Private Sub Worksheet_Calculate()
Application.EnableEvents = False

Range("U9").GoalSeek Goal:=1, ChangingCell:=Range("V9")
Range("U10").GoalSeek Goal:=1, ChangingCell:=Range("V10")
Range("U11").GoalSeek Goal:=1, ChangingCell:=Range("V11")
Range("U13").GoalSeek Goal:=1, ChangingCell:=Range("V13")
Range("U14").GoalSeek Goal:=1, ChangingCell:=Range("V14")
Range("U16").GoalSeek Goal:=1, ChangingCell:=Range("V16")
Range("U17").GoalSeek Goal:=1, ChangingCell:=Range("V17")
Range("U18").GoalSeek Goal:=1, ChangingCell:=Range("V18")
Range("U19").GoalSeek Goal:=1, ChangingCell:=Range("V19")
Range("U20").GoalSeek Goal:=1, ChangingCell:=Range("V20")
Range("U21").GoalSeek Goal:=1, ChangingCell:=Range("V21")
Range("U22").GoalSeek Goal:=1, ChangingCell:=Range("V22")
Range("U23").GoalSeek Goal:=1, ChangingCell:=Range("V23")
Range("U93").GoalSeek Goal:=1, ChangingCell:=Range("V93")
Range("U94").GoalSeek Goal:=1, ChangingCell:=Range("V94")
Range("U95").GoalSeek Goal:=1, ChangingCell:=Range("V95")
Range("U96").GoalSeek Goal:=1, ChangingCell:=Range("V96")
Range("U97").GoalSeek Goal:=1, ChangingCell:=Range("V97")
Range("U98").GoalSeek Goal:=1, ChangingCell:=Range("V98")
Range("U99").GoalSeek Goal:=1, ChangingCell:=Range("V99")
Range("U100").GoalSeek Goal:=1, ChangingCell:=Range("V100")
Range("U101").GoalSeek Goal:=1, ChangingCell:=Range("V101")
Range("U103").GoalSeek Goal:=1, ChangingCell:=Range("V103")
Range("U104").GoalSeek Goal:=1, ChangingCell:=Range("V104")
Range("U106").GoalSeek Goal:=1, ChangingCell:=Range("V106")

Application.EnableEvents = True

End Sub



